












































































































Consider x a seta

Sc tax tax ta
Dc t Zax ta

Given a quadratic expression such as

It 6 10

we wish to write it in the form

x a tb where a b are

constants

x 3 10 9

x 3 Ibut
2 3

x 6 9 The number in the bracket 3 is

half of the number of x in the expression 6

However this introduces an extra term 3

which we then need to subtract to

ensure the two expressions are equal

Examples

1 x'tax 3 xtz 3 4

x 25 7

Completing the Square














































































































2 É 10 11 x 57 11 25

x 55 14

3 si 5 8 x E 8

x E I I
E 4

Exercise complete the square

1 x 2 7 x 15 7 I

2 15 6

2 É 8 1 x at I 16

x at 17

3 I 3 5 x 3 5 E
x t 8 E
att t

4 I 9 10 x E co 84
x E YE E
x E E

































SketchExt y X 6 5

y x 35 5 9 Yd
y x 35 4

Line of symmetry se 3 value that mikes
bracket o

Minimum Point is 3 4

Notice the constant term C a indicates the g coordinate

of the minimum point

y
Ex

y 2 20 60

y x 105 60 100

v
y actio 40

x
Line of synaetry so 10

10 40
Man point 10 40

as to

y

Ex ye É 5 8

g x 55 8 4
g x E't I
g x 55 4

Identifying Line of Symmetry and Minimum Point



Line of symmetry X E
Mn point E F EE


